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WUms: Tara: Ouenka:
x30% =234 x 30% = 22.8
x 60% = 7.8 x 50% = 43
x10% = 7.1 x 90% = 81
x20% = 15.6 % 90% = 55.8
x 80% = 66.4 x 70% = 14
x30% =17.5 x 60% =174
x40% = 12.4 x 90% = 86.4
x 80% = 35.2 x 30% = 28.5
x20% =12 x 40% = 37.2
x20% = 4.2 x 50% = 39.5


https://www.snowmath.com

J o6 A&

[TporieHTs! uncen (0OTCYTCTBYIOIIEE YHCIIO)

Nwms:

78 x30% = 23.4

13 x60% = 7.8

71 x10% = 7.1

78 x 20% = 15.6

83 x 80% = 66.4

25 x30% ="7.5

31 x40% =12.4

44 x 80% = 35.2

60 x 20% = 12

21 x20% = 4.2

76 x 30% = 22.8

86 x 50% = 43

90 x 90% = 81

62 x90% = 55.8

20 x70% = 14

29 x60% =174

96 x 90% = 86.4

95 x 30% = 28.5

93 x40% = 37.2

79 x 50% = 39.5
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